9. Alpha-Numeric Sequence Puzzle
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N Nil . ' {2) One

In this type of questions, a jumbled sequence of some letters numbers and symbols is given, followed by certain
questions based on it. .

The questiohs asked may be any of the following types :

1. To find elements (letters, numbers or symbols) satisfying certain conditions in the given sequence.

2. To determine the element at a certain given relative position in the sequence.

3. To complete a series consisting of terms formed by a combination of the elements of the sequence, by
deciphering the hidden pattern in relation to the position of the elements in the sequence.

4. To find the odd combination from among a given set of combinations of elements, by finding the common
property which other combinations share as per their positions in the given sequence.

5. To find the analogical relationship between a given pair of combinations of elements, and then find a
combination which holds same relationship with another given combination,

Soived examplies

Study the following arrangement of symbols, letters and numbers to answer the qu&stions given
below it :

§5=BF2*KS75#$PLVS8@MUE6TQGO93&TYE

How many such letters are there in the arrangements each of which is either immediately preceded by a
symbol or immediately followed by a number, but not both?

(1) Three© = 7 (2} Four ~ 3y Five ~ 7 " {4) None of these

The letters satisfying the given conditions are shown as under :

5-BF2*xK[E75#$PILM8@MUE6TRGOI3&@YE

Cieaﬂy, there are 8 such {etteré,.

Hence the .answer is (4).

How many such consonants are there in the above arrangement each of whxch is immediately followed by
a consonant but not immediately preceded by a symbol?

3) Two @ fhrée '

We know that of the 26 letters of Enghsh alphabet five letters namely A, E, I, O U are vowels, while remammg ,
are consonants. _ v :

Theiconsonants satisfying the given conditions may be shown as under :

5-BF2*KS75#$P[[VB@MUE6TQGOI3&TYE

-Clearly, there is only one such consonant. - = R o
O : . . . P R /.

. . O

Henze, the answer is {2).



£x.3 Whic of the following is exactly in the middle of the ninth from the left end and the fifteenth from the right
end in the above arrangement? ‘ .o .

(WP QU ,~,'~ QE , @ L

Sol, Clearly, counting from the !eft the ‘ninth element is 7. Countmg from the right, the fifteenth element is @.
The character nﬁdway between 7 and @ is P. - ,

Hence the answer is (1).



_EXERCISE
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.
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Directions {Q.1 to Q.5) : Study the following arrangement carefully and answer the questions given below.
BSRI @EK4F7@DAM2P3%9H Tws* 6UJSVQ#

Which of the following is lﬁe sncth to the left of the seventeenth from the left end of the above r:m'angement'*7

we @7 L @D S @A

- Which of the following is ewme between 7 and $ in the above arrangement?l
{1)% (B)H (4) 3

Three of the followmg four are alike in a certain way based on their p051tlon in the above arrangement and so
forma group. Which is the one that does not belong to that group? '

(1) PM3 C okE (3) 6+ @i

How many such symbols are there in the above arrangement each of which 4s immediately preceded by a
number but not 1mmedxately followed by a consonant? : :

one o aDee © @Noneofthese

How many such consonants are there in the above arrangement each of which is immediately followed by
another consonant but not immediately preceded by a symbol"

(1) One @Two (3)Three - (4 None

Directions (Q 6 to Q.10): Study the following arrangement carefully and answer the questions given below.
RDlSE%K3Jl9P8#GZb$KM6W@N4©T TFH,_

Which of the followzng is the third to the right of the twelfth from the lef’t end of the above arrangement? A

md .. . @o_ . . BB . _@o. . _
Which of the follomng is the seventh to the right of the nineteenth from the nght end? »
mPp . @3M @w |

1

‘How many sich numbers are there in the above arrangement, each of which is. 1mmedxately followed by a

consonant and immediately followed by a symboi?
() One - (2) Two (3) Tllree : (4) Four .

How many such consonants are there in the above arrangement, each of which is 1mmed1ately preceded by a
symbol and xmmedlately followed by a number? *

{1} One o (2 Twe o » 3) Three : {4} Four
Which of the following is exactly in the middle between the tenth from the left and the elghth from the right end? ~
ms.: (2l ,-' S @# @G -

Dlrecﬁons (Q. 11 to Q. 15): Study the followlng arrangement carefully and answer the questlon given below :

11.

12,

Ty F4©J2E%MP5W9@IQR6UH3Z7 A"'BSV#G$YD

.Three of the fo lowmg four arealikeina certa n.way based on their positions in the above arrangement and so

- form 2 group. Whlch fs the one that does not belong to that group?

Mo24; . (@RI (3)B8A -+ {8) None of thise
What should come in place of the quest'OP mark {? ) in the followmg series basea on thr—' e'-r 2o rerlgement?-
T G 4JE \159 IRU 2 « R A

1) .347 .. - sa '(BlZH* (4l?"0f!€



13.

14.

15.

How many such consonants are > there in the above arrangement, each of whlch is 1mmedlately preceded by a -
number but not immediately followed by a number? : :

(1) One ' (2) Two (3) Three ) .. {4) None
Which of the followmg is the tenth to the right of the. nineteenth from the right end of the above arrangement ?
(UM e (Z)Q - Q3T 8)2

If all the symbols are dropped from the above arrangement, which of the following wxll be the fourteenth from

" theleftend ?

MR .- -2Q 36 @3

Directions (Q.16 to Q.20) : Study the foﬂowmg arrangement carefully and answer the questions given below.

16.
A . (2 E ’ 3% . (4)#

~17. [f the order of the last fifteen elements is reversed whlch of the follomng will be fifth to the right of twelfth

18.

19.

"If the posftions of E and A are:

(1) One
20

W1R%4JE#7MT2I9BH3A$9FQSDG6USP
Whlch of the foliowmg is the seventh to the right of the eighteenth from the right end ?

et .« —

from the’ left end? :
wv . @s @8 T @ 3
Three of the foltowing four are aﬁke in a gertain way on the basis of above arrangement and hence fonn
a group. Which one does not belong to that group? 5 S
(JRW4 N @25FG - B9QA . T (4)38$

interchanged and similarly the positions of R and U are mterchanged then '

how many symbols will be there each of which is either preceded or followed by a vowel? ~

() Two  @Four ¢ (4 Three
What should come in p}ace of queshon mark on the basis of the above artangement'?
"R4# MZB 3$Q 2 B

S . e
1

WH5GU ~ (@D6S . i (35GS ~ @DpeP

t ) .t




